Math 20           
                 

Name  _________________________________

1.
a)
Find a piecewise-defined formula for the function shown.
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b)
On which interval(s) is this function increasing? (–4, 0)

c)
Give the range and domain.  
Range = [0, 2]







Domain = [–5, –4) ( (–4, 0) ( (0, 2]
2.
Find the domain of each function.

a)
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3.
Simplify 
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4.
A Norman window has the shape of a rectangle with a semicircle on top.  If the perimeter of the window is 10 meters, express the area of the window as a function x of the width.




Let the height of the rectangle be h.  Then, since the perimeter is 10,
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The area is 
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Quarter Circle
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